
#1060 High pressure connecting 
block, 4 ports M12x1

#1062 Blind plug M12x1

#1064 Connector 
DIN G 5/8 to M12x1

#1068 Handwheel DIN G 5/8

#1199 Bleed valve body

#1210 Relief valve screw

#1341 Needle valve M12x1, stem

#1342 Needle valve M12x1, body

#2091 O-ring 4x1 FPM80

#2089 O-ring 10x1,8 FPM80

#2090 O-ring 9,25x1,78 FPM80

#2093 O-ring 4x2 FPM80

#2094 O-ring 12x2,5 FPM80

#3085 Stainless steel 
ball, hardened, 3.175 
mm (1/8")

Size
A4

Date
27.11.2019

Units
mm

Scale
1:2

Sheet
1 of 1 Stock: 

Material: Materi§l <nen² urļen>
Part No: 8020
Part: Flow limiter standard, DIN version 
 
 
 

Weight: 325.25 g

200 mm
28

7 
m

m


	Sheet1
	Pohled výkresu1


